stress test

T w4

1. o

mlo
o

A=R

rlo

La= ] b= ) A e 4o g ool
a—[3a—{a—2b— (7a —4b)}]
D (—a?)? x (2b)3 = —4a*b?
@ (-3y)? x (—ay)3 = —323y°
® (—zy)? x 2zy = 22°%y?
1\ (2a\® 4
o (-2) ~(3) -7

® a? x (—2b)? x a® = 4a°v?

o

5. e F 84 e ALY

@ x x (—22%) = —223

@ -3z x 4y = —12zy
2. 482%y3 = O = (—22%y)? oA O of] gk 4122

2 . .
® §x2y X (—6xy?) = —da3y*

O —6xy @ 6y ® 12xy @ (37)% x (22)% = 122*
1 1 3 2
- - = 2 Z..2 — 3,23
62y ® 62y ® 5TYz" X uTyz =2y
3. =% w2de 2T === 6

*:E(y+3z) 7y(21'+ 1) — 2(172 7171,/74) = ZJ—]%]_——B—‘I @-
W, ay O A0 o? ©] A0l GO Share AL
@) (b2)3 = 12X2x2 _ 8
© (22)3 = 22%3 = 26 D6 @ -4 ®-2 @®2 063
© (y2)3 x y3 = yb x yB = yb*3 = 418
@ (22)2 x (y?) = 222 x y? = zty?

@ (a*)? x (a®)* = af x ab = af+6 = 12 7. of" A A9 2ujo A —2a+b ©] 3 HIE #H 24+ 50
7b At o w, of® 4 A & F5HH?

@D 2a—4b @ —2a + 4b ® 4a—2b

@ —4a+ 2b ® 4a+2b




222 +1— 3 £ 71c5] 59

5, , 4
®_§x —3z+1 @ —cx + 5o+l
@gxzfQ:qul @ngJrngrl

4

9. (a+b)(a—0b)=a*—-b*Z ol&sto Axtstr] 71
ke 729
® 1982 ® 1012 @ 47 x 53
@ 101 x103 ® 203 x 302

10. 212 x 517 £ 8 22 9] 517 Fsfolet,

11. %= a,b o tiot 3z — 5y — {y — 2(2z + 3y)} =
ar +by € o, a +b 2 G Fotoi=t

12. g 587 % o]4AL BT 2 I Q17p?

(1]
H7

—}

Q 422 -5z
© x(4w —4) + 2 — 422
1
@ ?—.’L'
@ (2—4x+32%) —2(2%—4x+1)

1 1
@ <§x2+4x— 1) - (-1 —dx — ng)

® 17 @ 274 ® 37

@ 4 A ® 5 71

13. 50 -2y = ~dr+y -3 L M, 50 —2y+5 5 x
Tt 2] o 2 Lfehfjoiat,

14. (4o — 5y + 3)(z + 3y) & AADE 1, 2y o] ASE

Fotofet,

15.

Al A= ol-85tod (z +3)(z +a) B AN Aol

a? +br — 12 ot} olnf 4= a, b 9] gk Fotef=t




16. 2= —2, y=5 2 ©, oh& 49| ke Fatefet.

622y — 9xoy*
3xy
17. o3 TRl go] Zol &
7 A7)E B 1%
q3seusdons o
o] Fole dutt Eotx] v
=71 '
) /\
b
1 2
® =a @ Za ' \_//
3 \
4 i
® a @ 3¢ N "

18. 37 +32=81, 33+3°+3°=3vLd o}, z — y o] >
Tohof et

19. of® thgA] A oA —o—2y+4 2 HSILHY dr+y-3
o] H3ict. T4l 4 9

O —z+2y-7 @ —xz+3y—3
® bz —2y+4 @ bx+3y—7
® bx+3y+7

W, a o Aot Frde] 27

O 21

@ —15 ® -21

. 1 1
21 (—2x + 5y)(2z + by) — (39: + Qy) (gx - 2y) =ds
o] Sh?
4 5 2 4 5 2
) 3¢ + 29y @ —5° + 16y
4 37
©) —§x2 + 2592 @ —sz + 2592
® —%ﬁ + 29y
22. 7/ 4 2 1
(—fxy?’) x dzxy +4xPy? = 10y A, p+q o S
3 9x2
Fafele

23. 210 = 1000°]2t & o, 5109] Zre?

® 102 @ 10* ® 10°

@ 107 ® 108




24, 11 11
r+y+z=0% ‘Iﬂ,x<7+7)+y(*+*>+
Yy z z x

(%%)4 e THRY (o £0, y £0, 2 £

0)

-3 @-2 B®-1 ®o ® 3

a n b n c
ab+a+1 bec+b+1 ca+c+1

o gre Fatoler.

25

Cabe=14¢ 0,




